Bid Tabulation For:	Construction of Utilities & Li To Serve Galveston County		SH 96 Commercial Development 2	
Bid Opening Date: Bid Opening Location:	January 30, 2025 District Office 524 Cien Road Kemah, Texas 77565			
Tabulation By: Tabulation Date: LJA Project No.	Tammy Endres January 31, 2025 E125-1031			
Bidder's Name:		Total Bid Amoun and Allowance B	t for Base Bid,Supplementary, id Items:	Calendar Days:
1) T Construction, LLC		* \$2,775,100.50		275
2) Reddico Construction	n Company, Inc.	\$2,936,684.50		270
3) Persons Service Cor	p.	\$2,975,015.00		365
4) Peltier Brothers Cons	struction, LLC	\$2,989,474.00	MARK E. HAVRAN	250
I, Mark Havran, P.E., he	reby certify these bid tabulati	ons to be true and	correct.	

*Mathematical Error

	bulation - Bid Opening, January 30, 2025	T Construction, 12601 Mcnair S		Reddico Constructio 10083 Airport Roa		Persons Service Corp. 6435 Story Drive		Peltier Brothers Construction, LLC 10727 Peltier Lane			
	ston County W.C. & I.D. No. 12			Houston, TX 77				•			
	s & Lift Station to Serve SH 96 Commercial Develo	opment		,		Conroe, TX 77303		Houston, TX 77396		Houston, TX 77064	
	roject No. E125-1031			832-928 Juan Ramon To		936-441-9500		832-777-0745		281-894-4949	
FRN F	FRN F-1386					Ryan Redd		Dale Kornegay		Richard L. Peltier	
			lojeda@tconstru	<u>ictionllc.com</u>	rredd@reddico.co		randreasen@perso	onsservices.com	richardp@peltierb	ros.com	
ITEM		EST.		UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE
NO.	DESCRIPTION	QTY.	UNITS	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM
	BASE BID ITEMS										
	LIFT STATION ITEMS										
1	Clearing and Grubbing of Approximately 3.0 Acres of the Proposed Site and Easements, and All Appurtenances, Complete in Place	3	AC	\$6,700.00	\$20,100.00	\$44,610.00	\$133,830.00	\$20,000.00	\$60,000.00	\$1,300.00	\$3,900.00
2	Site Work, Including But Not Limited to Site Grading, Site Fill (36 CY +/-), Site Drainage, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, Complete in Place	1	LS	\$50,750.00		\$11,710.00	\$11,710.00	\$57,400.00	\$57,400.00	\$15,000.00	\$15,000.00
3	Concrete Wet Well, 12-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Dewatering, Control of Ground Water and Surface Water During Construction, and All Appurtenances, in Accordance with Details on Plans and Specifications, and All Other Items Not Contained within a Separate Bid Item, Complete in Place	1	LS	\$802,000.00	\$802,000.00	\$1,012,110.00	\$1,012,110.00	\$660,590.00	\$660,590.00	\$970,000.00	\$970,000.00
4	11 HP Submersible Pumps with Minimum Efficiency of 70% at 800 GPM and 34.75' T.D.H., Including Discharge Elbow, Guide Rails, and All Appurtenances for a Complete Installation of the Proposed Pumps, in Accordance with Details on Plans and Specifications, Complete in Place	3	EA	\$51,478.00	\$154,434.00	\$59,652.00	\$178,956.00	\$80,710.00	\$242,130.00	\$30,000.00	\$90,000.00
5	Sanitary Lift Station and Valve Pad Yard Piping, Including, Pipe, Valves, Fittings, Supports, Pre- Fabricated Discharge Header, Proposed Force Main, Water Service Connection with Associated Backflow Preventer and Hose Bibb, Dewatering, and All Appurtenances for a Complete Installation of the Proposed Piping, Complete in Place	1	LS	\$118,050.00	\$118,050.00	\$160,862.00	\$160,862.00	\$181,085.00	\$181,085.00	\$190,000.00	\$190,000.00
6	7-Inch Thick Reinforced Concrete Site Paving, Including 6-Inch Lime Stabilized Subgrade, in Accordance with the Geotechnical Engineering Report and Details and Specifications, Complete in Place	200	SY	\$43.00	\$8,600.00	\$126.00	\$25,200.00	\$262.00	\$52,400.00	\$100.00	\$20,000.00

Galveston County W.C. & I.D. No. 12 Utilities & Lift Station to Serve SH 96 Commercial Development LJA Project No. E125-1031 FRN F-1386					T Construction, LLCReddico Construction Company, Inc.12601 Mcnair Street10083 Airport RoadHouston, TX 77015Conroe, TX 77303832-928936-441-9500Juan Ramon TorresRyan ReddIojeda@tconstructionIIc.comrredd@reddico.comUNITTOTAL PRICEUNITPRICEPER ITEMPRICE\$147.00\$34,545.00\$118.00\$27,730.00		PRICE PER ITEM		PRICE PER ITEM		
8	on Plans and Specifications, Complete in Place Electrical System Installation, Provide and Install All Work Shown on Plans and Described in Specifications, Including But Not Limited to, As Follows: Provide and Install Pump Control Panel, Lighting and Receptacles, Pump Motor Feeders and Terminal Boxes, Electrical Service Equipment, Autosensory Controls, Autodialer, Control Cabinet Foundation, Concrete Duct Bank to Anders Lane, Coordination with Electric Service Provider for New Service, and All Appurtenances, in Accordance with Details on Plans and Specifications, Complete in Place	1	LS	\$173,040.00	\$173,040.00	\$163,656.00	\$163,656.00	\$191,950.00	\$191,950.00	\$242,000.00	\$242,000.00
	SANITARY SEWER ITEMS 10-Inch PVC Pipe (AWWA C-900, DR-18) Force Main with Ductile Iron Fittings, Open Cut Construction (All Depths), Joint Restraints (as necessary), Complete in Place 10-Inch Force Main (PVC, AWWA C-900, DR-18)	1,550	LF	\$71.00 \$675.00		\$82.00	\$127,100.00	\$85.00	\$131,750.00	\$102.00	\$158,100.00 \$27,200.00
12	Augured and Encased Construction, with 18-Inch Steel Casing (1/4" Thick, Min.) & Joint Restraints (as necessary), All Depths, Complete in Place Connect Proposed 10-Inch Force Main to Existing Manhole, Complete in Place 15-Inch PVC Pipe (SDR-26, PS115) Gravity Sanitary Sewer, Open Cut Construction (All	1	EA	\$2,730.00 \$368.00		\$7,220.00	\$7,220.00 \$3,438.00	\$4,340.00	\$4,340.00 \$4,440.00	\$2,475.00 \$154.00	\$2,475.00 \$924.00
	Depths), Including Testing, Post TV Inspection, and All Appurtenances, Complete in Place										

	bulation - Bid Opening, January 30, 2025 ston County W.C. & I.D. No. 12		T Construction, 12601 Mcnair S		Reddico Constructio 10083 Airport Road		Persons Service Corp. 6435 Story Drive		Peltier Brothers Construction, LLC 10727 Peltier Lane		
	es & Lift Station to Serve SH 96 Commercial Develo	nmont		Houston, TX 77		Conroe, TX 77303		Houston, TX 77396		Houston, TX 77064	
	roject No. E125-1031	pinein		832-928		936-441-9500		832-777-0745		281-894-4949	
FRN F	-					Ryan Redd		Dale Kornegay		Richard L. Peltier	
	-1000			lojeda@tconstru		rredd@reddico.cor	n	randreasen@perso	onsservices com	richardp@peltierb	ros.com
ITEM		EST.		UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE
NO.	DESCRIPTION	QTY.	UNITS	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM
13	12-Inch PVC Pipe (SDR-26, PS115) Gravity Sanitary Sewer, Open Cut Construction (All Depths), Including Testing, Post TV Inspection, and All Appurtenances, Complete in Place	1,095	LF	\$83.00		\$139.00	\$152,205.00	\$100.00	\$109,500.00	\$135.00	\$147,825.00
14	12-Inch PVC Pipe (SDR-26, PS115) Gravity Sanitary Sewer, Augured and Encased Construction, With 20-Inch Steel Casing (1/4" Thick, Min.) & Joint Restraints (as necessary), (All Depths), Including Testing, Post TV Inspection, and All Appurtenances, Complete in Place	50	LF	\$850.00	\$42,500.00	\$376.00	\$18,800.00	\$550.00	\$27,500.00	\$539.00	\$26,950.00
15	10-Inch PVC Pipe (SDR-26, PS115) Gravity Sanitary Sewer, Open Cut Construction (All Depths), Including Testing, Post TV Inspection, and All Appurtenances, Complete in Place	690	LF	\$265.00	\$182,850.00	\$112.00	\$77,280.00	\$85.00	\$58,650.00	\$127.00	\$87,630.00
16	10-Inch PVC Pipe (SDR-26, PS115) Gravity Sanitary Sewer, Augured Construction (All Depths), Including Testing, Post TV Inspection, and All Appurtenances, Complete in Place	80	LF	\$158.00	\$12,640.00	\$167.00	\$13,360.00	\$420.00	\$33,600.00	\$226.00	\$18,080.00
17	8-Inch PVC Pipe (SDR-26, PS115) Gravity Sanitary Sewer, Open Cut Construction (All Depths), Including Testing, Post TV Inspection, and All Appurtenances, Complete in Place	70	LF	\$114.00	\$7,980.00	\$120.00	\$8,400.00	\$95.00	\$6,650.00	\$99.00	\$6,930.00
18	Standard Sanitary Sewer Manhole, 4-Foot Diameter (Up to 8' Depth), Including Connections of Existing and Proposed Lines as Required, and All Appurtenances, Complete in Place	6	EA	\$8,325.00		\$5,567.00	\$33,402.00	\$8,765.00	\$52,590.00	\$6,050.00	\$36,300.00
19	Extra Depth 4-Foot Diameter Manhole (Over 8' Depth), Complete in Place	25	VF	\$860.00	\$21,500.00	\$198.00	\$4,950.00	\$435.00	\$10,875.00	\$330.00	\$8,250.00
20	Standard Sanitary Sewer Manhole, 5-Foot Diameter (Up to 8' Depth), Including Connections of Existing and Proposed Lines as Required, and All Appurtenances, Complete in Place	2	EA	\$12,536.00	\$25,072.00	\$5,472.00	\$10,944.00	\$11,110.00	\$22,220.00	\$7,150.00	\$14,300.00

Galves Utilitie	bulation - Bid Opening, January 30, 2025 ston County W.C. & I.D. No. 12 es & Lift Station to Serve SH 96 Commercial Develo roject No. E125-1031 -1386 DESCRIPTION	12601 Mcnair Street Houston, TX 77015 832-928 Juan Ramon Torres		10083 Airport Road Conroe, TX 77303		Persons Service Corp. 6435 Story Drive Houston, TX 77396 832-777-0745 Dale Kornegay randreasen@personsservices.com UNIT TOTAL PRICE PRICE PER ITEM		Peltier Brothers Construction, LLC10727 Peltier LaneHouston, TX 77064281-894-4949Richard L. Peltierrichardp@peltierbos.comUNITTOTAL PRICEPRICEPER ITEM			
21	Extra Depth 5-Foot Diameter Manhole (Over 8' Depth), Complete in Place	QTY. 15	UNITS VF	\$900.00		\$267.00	\$4,005.00	\$455.00	\$6,825.00	\$440.00	\$6,600.00
22	WATER ITEMS 12-Inch Waterline (PVC, AWWA C-900, DR-18) with Ductile Iron Fittings, Open Cut, Joint Restraints (as necessary), Including Sections of Ductile Iron (AWWA C-151, Class 350) (as necessary) and Offsets as Shown on Plans, All Depths, Complete in Place	3,250	LF	\$102.00	\$331,500.00	\$94.00	\$305,500.00	\$95.00	\$308,750.00	\$116.00	\$377,000.00
23	12-Inch Waterline (PVC, AWWA C-900, DR-18) Augured Construction, Joint Restraints (as necessary), Including Sections of Ductile Iron (AWWA C-151, Class 350) (as necessary), All Depths, Complete in Place	265	LF	\$236.00	\$62,540.00	\$143.00	\$37,895.00	\$225.00	\$59,625.00	\$193.00	\$51,145.00
24	12-Inch Waterline (PVC, AWWA C-900, DR-18) Augured and Encased Construction, with 20-Inch Steel Casing (1/4"-Inch Thick Min.) Joint Restraints (as necessary), All Depths, Complete in Place	105	LF	\$585.00	\$61,425.00	\$296.00	\$31,080.00	\$600.00	\$63,000.00	\$424.00	\$44,520.00
25	6-Inch Waterline (PVC, AWWA C-900, DR-18) with Ductile Iron Fittings, Open Cut, Joint Restraints (as necessary), Including Sections of Ductile Iron (AWWA C-151, Class 350) (as necessary) and Offsets as Shown on Plans, All Depths, Complete in Place	5	LF	\$222.00		\$122.00	\$610.00	\$505.00	\$2,525.00	\$83.00	\$415.00
26	12-Inch Gate Valve (AWWA) with Adjustable Box, Joint Restraint (as necessary), Accessories, Concrete Collar, Complete in Place	8	EA	\$5,200.00	\$41,600.00	\$4,496.00	\$35,968.00	\$5,205.00	\$41,640.00	\$4,840.00	\$38,720.00
	Fire Hydrant Assembly, With Restrained Joints, 4- Foot Bury, Concrete Collar, Including Extended Lead Piping as Shown on Plans when Required, Complete in Place	8	EA	\$6,500.00	\$52,000.00	\$8,461.00	\$67,688.00	\$7,265.00	\$58,120.00	\$8,470.00	\$67,760.00
28	Extra Depth Bury for Fire Hydrant, Complete in Place	20	VF	\$724.00	\$14,480.00	\$186.00	\$3,720.00	\$285.00	\$5,700.00	\$275.00	\$5,500.00

Galvestor County W. C. 810, No. 12 1021 Monit Stratet 1003 Monit Stratet	Bid Ta	bulation - Bid Opening, January 30, 2025	T Construction,	T Construction, LLC		on Company, Inc.	Persons Service	Corp.	Peltier Brothers Construction, LLC			
Utilities AL Inf Station to Serve SH 95 Commercial Development LAP Project No. E125-1031 Houston, TX 7735 (32.977) Contrast, TX 7735 (32.977) Houston, TX 7755 (32.97					12601 Mcnair S	treet			6435 Story Drive	·	10727 Peltier Lane	
LAP Project No. E125-1031 FRN F-1386 B32-279 busine Rearmon Torms belea (Biconstruction(B.com) red.(GredSto).com B32-777.074.5 B12-777.074.5 Unit TortAL PRICE participation and CLR Schward and State (Same) and State (Sam		-	opment		Houston, TX 77	015	Conroe, TX 77303		Houston, TX 77396		Houston, TX 77064	
FRN F-1386 Juan Ramo Torres Ryan Revol Date Karnegay Related L. Petter ITEM Edstabilization (Including Valve Closures) EST. UNIT TOTAL PRICE PER ITEM					832-928		936-441-9500					
TTEM DESCRIPTION EST. UNIT TOTAL PRICE UNIT TOTAL PRICE UNIT TOTAL PRICE UNIT TOTAL PRICE PRICE <t< th=""><th></th><th>-</th><th></th><th></th><th>Juan Ramon To</th><th>rres</th><th>Ryan Redd</th><th></th><th colspan="2"></th><th>Richard L. Peltier</th><th></th></t<>		-			Juan Ramon To	rres	Ryan Redd				Richard L. Peltier	
NO DESCRIPTION OTX UNITS PRICE PERITEM PRICE <td></td> <td></td> <td></td> <td>lojeda@tconstru</td> <td>ictionIIc.com</td> <td>rredd@reddico.cor</td> <td><u>n</u></td> <td>randreasen@perso</td> <td>onsservices.com</td> <td>richardp@peltierb</td> <td>pros.com</td>				lojeda@tconstru	ictionIIc.com	rredd@reddico.cor	<u>n</u>	randreasen@perso	onsservices.com	richardp@peltierb	pros.com	
NO DESCRIPTION OTX UNITS PRICE PERITEM PRICE <td>ITEM</td> <td></td> <td>EST.</td> <td></td> <td>UNIT</td> <td>TOTAL PRICE</td> <td>UNIT</td> <td>TOTAL PRICE</td> <td>UNIT</td> <td>TOTAL PRICE</td> <td>UNIT</td> <td>TOTAL PRICE</td>	ITEM		EST.		UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE
29 12-Inch Wet Connection, Including Valve Closures 1 EA \$4,200.00 \$7,350.00 \$7,350.00 \$5,690.00 \$5,690.00 \$6,600.00 \$6,600.00 10 Internet In Place 100 SY \$33,600.00 \$6,700.00 \$6,700.00 \$40.00 \$40.000 \$7,200.00 \$7,200.00 30 Strafee Restoration, Unputete in Place 5,700 LF \$1,50 \$8,560.00 \$5,700.00 \$7,000 \$30.00 \$3,000.00 \$31,71.100.00 21 Terrork Safety System, Complete in Place 5,700 LF \$1,50 \$8,500.00 \$2,500.00 \$10.000.00 \$46.00 \$4,60.00 Link Fences, As Directed by Owner's Remove and the Place 3 AC \$2,500.00 \$1,270.20 \$3,515.00 \$10,845.00 \$2,310.00 \$6,930.00 33 Turf Establishment, Hydro-mulch Seeding, 1 LS \$20,000.00 \$2,241.00 \$3,270.00 \$3,270.00 \$2,250.00 \$2,200.00 \$2,200.00 \$2,200.00 \$2,200.00 \$2,200.00 \$2,200.00 \$2,200.00 \$2,200.00	NO.	DESCRIPTION	QTY.	UNITS	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM
Shell). Complete in Place 70 L 510 510 510 510 510 510 510 51000 510000	29	for Line Isolation and Cut & Plug of Existing Line or	1	EA	\$4,200.00	\$4,200.00	\$7,350.00	\$7,350.00	\$5,690.00	\$5,690.00	\$6,600.00	\$6,600.00
32 Remove & Replace Existing Barbwire and Chain Link Fences, As Directed by Owner's Representative, Complete in Place 100 LF \$20,00 \$2,000,00 \$25,00 \$100,00 \$100,00 \$46,00 \$46,00,00 33 Turf Establishment, Hydro-mulch Seeding, Complete in Place 3 AC \$2,500,00 \$7,500,00 \$42,44,00 \$12,732,00 \$3,615,00 \$22,200,00 \$6,930,00 34 Traffic Control, as Necessary, Includes Acquiring Permits, Installation, Maintenance, & Removal of 11 LS \$20,000,00 \$3,270,00 \$22,250,00 \$22,250,00 \$22,000,00 \$30,00 \$30,00 \$30,00 \$30,00 \$30,00 \$30,00 \$30,00 </td <td>30</td> <td></td> <td></td> <td>SY</td> <td>\$35.00</td> <td></td> <td>\$67.00</td> <td></td> <td>\$40.00</td> <td></td> <td>\$72.00</td> <td>\$7,200.00</td>	30			SY	\$35.00		\$67.00		\$40.00		\$72.00	\$7,200.00
Link Fences, As Directed by Owner's Representative, Complete in Place Link Fences, As Directed by Owner's Representative, Complete in Place Link Fences, As Directed by Owner's Representative, Complete in Place Link Fences, As Directed by Owner's Representative, Complete in Place Status Link Fences, As Directed by Owner's Representative, Complete in Place Status Link Fences, As Directed by Owner's Representative, Complete in Place Status	31		5,700			\$8,550.00	\$1.00	\$5,700.00	\$7.00	\$39,900.00	\$3.00	\$17,100.00
Complete in Place 34 Traffic Control, as Necessary, Includes Acquired by Permits, Installation, Maintenance, & Removal of All Traffic Control Devices Required by Permit and as Shown on Project Plans, Complete in Place 1 LS \$20,000.00 \$3,270.00 \$32,270.00 \$22,250.00 \$22,250.00 \$22,000.00 \$22,000.00 35 SWPPP, Reinforced Filter Fabric Barrier, Installed, Maintained, And Removed, In Accordance with Best Management Practices, Complete in Place 1,115 LF \$22,10 \$3,50 \$3,902.50 \$10.00 \$11,150.00 \$6,600.00 36 SWPPP, Stabilized Construction Exit, Installed, Maintained, And Removed, In Accordance with Best Management Practices, Complete in Place 230 SY \$29,000 \$6,670.00 \$59.00 \$13,570.00 \$30.00 \$6,900.00 \$33.00 \$7,590.00 36 SUPPLEMENTARY ITEMS 230 SY \$22,000.00 \$59.00 \$13,570.00 \$30.00 \$6,900.00 \$33.00 \$7,590.00 37 "Extra" Curchent Stabilized Stand, As Directed by Owner's Representative, Complete in Place 200 CY \$10.00 \$2,000.00	32	Link Fences, As Directed by Owner's	100	LF	\$20.00	\$2,000.00	\$25.00	\$2,500.00	\$100.00	\$10,000.00	\$46.00	\$4,600.00
Permits, Installation, Maintenance, & Removal of All Traffic Control Devices Required by Permit and as Shown on Project Plans, Complete in Place 1,115 LF \$2.10 \$2,341.50 \$3.50 \$3,902.50 \$10.00 \$11,150.00 \$6.60 \$6,690.00 35 SWPPP, Reinforced Filter Fabric Barrier, Installed, Maintained, And Removed, In Accordance with Best Management Practices, Complete in Place 1,115 LF \$2.00 \$6,670.00 \$13,570.00 \$10.00 \$11,150.00 \$6,690.00 36 SWPPP, Stabilized Construction Exit, Installed, Maintained, And Removed, In Accordance with Best Management Practices, Complete in Place 230 SY \$29.00 \$6,670.00 \$59.00 \$13,570.00 \$30.00 \$6,690.00 SUB-TOTAL BASE BID ITEMS - ITEMS 1 - 36 \$2,610,300.50 \$2,745,743.50 \$2,650,415.00 \$2,764,434.00 ''Extra" Bank Sand, As Directed by Owner's Representative, Complete in Place 200 CY \$10.00 \$2,000.00 \$10.00 \$2,000.00 \$10.00 \$2,000.00 \$10.00 \$2,000.00 \$17.00 \$3,400.00 36 SUPPLEMENTARY ITEMS 200 CY \$20.00 \$10.00 \$2,000.00 \$10.00 \$2,000	33		3	AC	\$2,500.00	\$7,500.00	\$4,244.00	\$12,732.00	\$3,615.00	\$10,845.00	\$2,310.00	\$6,930.00
Maintained, And Removed, In Accordance with Best Management Practices, Complete in Place 230 SY \$29.00 \$6,670.00 \$59.00 \$13,570.00 \$30.00 \$6,900.00 \$33.00 \$7,590.00 36 SWPPP, Stabilized Construction Exit, Installed, Maintained, And Removed, In Accordance with Best Management Practices, Complete in Place 230 SY \$20 \$6,670.00 \$59.00 \$13,570.00 \$30.00 \$6,900.00 \$33.00 \$7,590.00 SUB-TOTAL BASE BID ITEMS - ITEMS 1 - 36 22,610,300.50 \$2,745,743.50 \$2,650,415.00 \$2,764,434.00 T SUPPLEMENTARY ITEMS 200 CY \$10.00 \$2,000.00 \$10.00 \$2,000.00 \$10.00 \$2,000.00 \$17.00 \$3,400.00 37 "Extra" Crushed Limestone Bedding, As Directed by Owner's Representative, Complete in Place 100 CY \$25.00 \$2,000.00 \$10.00 \$2,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00	34	Permits, Installation, Maintenance, & Removal of All Traffic Control Devices Required by Permit and as	1	LS	\$20,000.00	\$20,000.00	\$3,270.00	\$3,270.00	\$22,250.00	\$22,250.00	\$22,000.00	\$22,000.00
Maintained, And Removed, In Accordance with Best Management Practices, Complete in Place Sub-TotAL BASE BID ITEMS - ITEMS 1 - 36 \$2,610,300.50 \$2,745,743.50 \$2,650,415.00 \$2,764,434.00 SUB-TOTAL BASE BID ITEMS - ITEMS 1 - 36 \$2,610,300.50 \$2,745,743.50 \$2,650,415.00 \$2,764,434.00 Image: Sub-TotAL BASE BID ITEMS - ITEMS 1 - 36 \$2,610,300.50 \$2,745,743.50 \$2,650,415.00 \$2,764,434.00 Image: Sub-TotAL BASE BID ITEMS - ITEMS Image: Sub-TotAL BASE BID ITEMS - ITEMS 1 - 36 Image: Sub-TotAL BASE BID ITEMS - ITEMS 1 - 36 Image: Sub-TotAL BASE BID ITEMS - ITEMS 1 - 36 Image: Sub-TotAL BASE BID ITEMS - ITEMS 1 - 36 Image: Sub-TotAL BASE BID ITEMS - ITEMS - ITEMS 1 - 36 Image: Sub-TotAL BASE BID ITEMS - ITEMS 1 - 36 Image: Sub-TotAL BASE BID ITEMS - I		Maintained, And Removed, In Accordance with Best Management Practices, Complete in Place	1,115	LF	\$2.10	\$2,341.50	\$3.50	\$3,902.50	\$10.00	\$11,150.00	\$6.00	\$6,690.00
SUPPLEMENTARY ITEMS Image: Constraint of the state of th	36	Maintained, And Removed, In Accordance with Best	230	SY	\$29.00	\$6,670.00	\$59.00	\$13,570.00	\$30.00	\$6,900.00	\$33.00	\$7,590.00
37 "Extra" Bank Sand, As Directed by Owner's Representative, Complete in Place 200 CY \$10.00 \$2,000.00 \$10.00 \$2,000.00 \$17.00 \$3,400.00 38 "Extra" Crushed Limestone Bedding, As Directed by Owner's Representative, Complete in Place 100 CY \$25.00 \$2,500.00 \$25.00 \$2,500.00 \$25.00 \$2,500.00 \$55.00 \$5,500.00 39 "Extra" Cement Stabilized Sand, 2.0 Sacks per Ton, As Directed by Owner's Representative, Complete in Place 100 TON \$30.00		SUB-TOTAL BASE BID ITEMS - ITEMS 1 - 36				\$2,610,300.50		\$2,745,743.50		\$2,650,415.00		\$2,764,434.00
37 "Extra" Bank Sand, As Directed by Owner's Representative, Complete in Place 200 CY \$10.00 \$2,000.00 \$10.00 \$2,000.00 \$17.00 \$3,400.00 38 "Extra" Crushed Limestone Bedding, As Directed by Owner's Representative, Complete in Place 100 CY \$25.00 \$2,500.00 \$25.00 \$2,500.00 \$25.00 \$2,500.00 \$55.00 \$5,500.00 39 "Extra" Cement Stabilized Sand, 2.0 Sacks per Ton, As Directed by Owner's Representative, Complete in Place 100 TON \$30.00												
Representative, Complete in PlaceImage: C												
Owner's Representative, Complete in PlaceImage: Complete in PlaceImage: Complete in Place39"Extra" Cement Stabilized Sand, 2.0 Sacks per Ton, As Directed by Owner's Representative, Complete in Place100TON\$30.00		Representative, Complete in Place										
As Directed by Owner's Representative, Complete in PlaceImage: Complete in PlaceImage: Complet		Owner's Representative, Complete in Place										
Representative, Complete in PlaceImage: Complete in PlaceImage: Complete in PlaceImage: Complete in PlaceImage: Complete in Place41"Extra" Reinforcing Steel, As Directed by Owner's Representative, Complete in Place1,000LB\$1,000\$1,000.00\$1,000.00\$1,000.00\$1,000.00\$2,000.0041"Extra" Reinforcing Steel, As Directed by Owner's Representative, Complete in Place1,000LB\$1,000\$1,000.00\$1,000.00\$1,000.00\$2,000.00		As Directed by Owner's Representative, Complete in Place										\$3,900.00
Representative, Complete in Place	40	Representative, Complete in Place										
	41	,	1,000	LB	\$1.00			\$1,000.00	\$1.00	\$1,000.00	\$2.00	\$2,000.00

Bid Ta	bulation - Bid Opening, January 30, 2025	T Construction,	LLC	Reddico Constructio	on Company, Inc.	Persons Service	Corp.	Peltier Brothers C	onstruction, LLC		
	ston County W.C. & I.D. No. 12			12601 Mcnair S	treet	10083 Airport Roa	d	6435 Story Drive		10727 Peltier Lane	
	s & Lift Station to Serve SH 96 Commercial Develo	opment		Houston, TX 77	015	Conroe, TX 77303		Houston, TX 77396		Houston, TX 77064	
	oject No. E125-1031			832-928		936-441-9500		832-777-0745		281-894-4949	
FRN F	-			Juan Ramon Torres		Ryan Redd		Dale Kornegay		Richard L. Peltier	
				lojeda@tconstru	uctionIIc.com	rredd@reddico.co	<u>m</u>	randreasen@perso	onsservices.com	richardp@peltierb	oros.com
ITEM		EST.		UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE
NO.	DESCRIPTION	QTY.	UNITS	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM
	All Weather Temporary Access Road, Crushed Concrete with Stabilized Subgrade, As Directed by Owner's Representative, Complete in Place	270	SY	\$30.00	\$8,100.00	\$67.00	\$18,090.00	\$30.00	\$8,100.00	\$72.00	\$19,440.00
	SWPPP, Area Inlet Protection Barrier, Installed, Maintained, And Removed, In Accordance with Best Management Practices, As Directed by Owner's Representative, Complete in Place	16	EA	\$10.00	\$160.00	\$125.00	\$2,000.00	\$10.00	\$160.00	\$10.00	\$160.00
	SWPPP, Curb Inlet Protection Barrier, Installed, Maintained, And Removed, In Accordance with Best Management Practices, As Directed by Owner's Representative, Complete in Place	8	EA	\$5.00	\$40.00	\$97.00	\$776.00	\$5.00	\$40.00	\$5.00	\$40.00
	12-Inch Insertion Valve, Hydra-Stop Insta-Valve or Approved Equal, with Adjustable Box, Joint Restraint (as necessary), Accessories, Concrete Collar, As Directed by Owner's Representative, Complete in Place	1	EA	\$10,000.00	\$10,000.00	\$23,575.00	\$23,575.00	\$10,000.00	\$10,000.00	\$27,500.00	\$27,500.00
	8-Inch Insertion Valve, Hydra-Stop Insta-Valve or Approved Equal, with Adjustable Box, Joint Restraint (as necessary), Accessories, Concrete Collar, As Directed by Owner's Representative, Complete in Place	1	EA	\$8,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$16,500.00	\$16,500.00
	6-Inch Insertion Valve, Hydra-Stop Insta-Valve or Approved Equal, with Adjustable Box, Joint Restraint (as necessary), Accessories, Concrete Collar, As Directed by Owner's Representative, Complete in Place	1	EA	\$6,500.00	\$6,500.00	\$6,500.00	\$6,500.00	\$6,500.00	\$6,500.00	\$13,200.00	\$13,200.00
48	Bedding and Backfill for Wet Sand Construction and Unsatisfactory Soil Conditions, in Accordance with the Geotechnical Report and Details on Plans, As Directed by Owner's Representative, Complete in Place	3,400	LF	\$10.00	\$34,000.00	\$10.00	\$34,000.00	\$10.00	\$34,000.00	\$2.00	\$6,800.00
49	"Extra" Well Point Dewatering System, Installed, Operated and Removed As Directed by Engineer's Representative, As Directed by Owner's Representative, Complete in Place	3,400	LF	\$20.00	\$68,000.00	\$20.00	\$68,000.00	\$67.00	\$227,800.00	\$29.00	\$98,600.00
	SUB-TOTAL SUPPLEMENTARY ITEMS - ITEMS 37	7 - 49			\$153,300.00	g e 7	\$179,441.00		\$313,100.00		\$213,540.00

Bid Ta	bulation - Bid Opening, January 30, 2025		T Construction,	LLC	Reddico Constructio	on Company, Inc.	Persons Service Corp.		Peltier Brothers Construction, LLC		
Galve	ston County W.C. & I.D. No. 12			12601 Mcnair Street		10083 Airport Road		6435 Story Drive		10727 Peltier Lane	
Utilitie	es & Lift Station to Serve SH 96 Commercial Develo	opment		Houston, TX 77015		Conroe, TX 77303		Houston, TX 77396		Houston, TX 77064	
LJA P	roject No. E125-1031	832-928		936-441-9500		832-777-0745		281-894-4949			
FRN F	-1386	Juan Ramon To	orres	Ryan Redd		Dale Kornegay		Richard L. Peltier			
				lojeda@tconstru	uctionIIc.com	rredd@reddico.co	<u>m</u>	randreasen@perso	onsservices.com	richardp@peltierb	pros.com
ITEM		EST.		UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE
NO.	DESCRIPTION	QTY.	UNITS	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM
	ALLOWANCE BID ITEMS										
50	Costs Incurred (Direct from CenterPoint Energy) for	1	LS	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
	New Electrical Services, As Directed by Owner's										
51	Representative, Complete in Place Arc Flash Hazard Analysis, As Directed by Owner's	1	LS	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
	Representative, Complete in Place	'		φ1,000.00	φ1,000.00	φ1,000.00	φ1,500.00	φ1,000.00	ψ1,000.00	φ1,000.00	φ1,000.00
	SUB-TOTAL ALLOWANCE BID ITEMS - ITEMS 50	AND 51			\$11,500.00		\$11,500.00		\$11,500.00		\$11,500.00
•	SUMMARY OF BID										
	BASE BID ITEMS	ITEMS [·]	1 - 36		\$2,610,300.50		\$2,745,743.50		\$2,650,415.00		\$2,764,434.00
						-				•	
	SUPPLEMENTARY BID ITEMS	ITEMS	37 - 49		\$153,300.00		\$179,441.00		\$313,100.00		\$213,540.00
						-		•		•	
	ALLOWANCE ITEMS ITEMS 50 - 51				\$11,500.00		\$11,500.00		\$11,500.00		\$11,500.00
				•		•		•			
	TOTAL BASE BID, SUPPLEMENTARY, AND	ITEMS '	1 - 51		\$2,775,100.50	-	\$2,936,684.50		\$2,975,015.00		\$2,989,474.00
	ALLOWANCE BID ITEMS										